O
ra}



Inventoriad producticn chart

Crhits
3.E162=104 3.8164=104 3.5166=1C4 I.B1e8=104 3.81T0=104 35172104 3817 4=104
| | | | | | | T T T | T T T | T T | | | | | | | | | | | |

RAZ CAL OF | |

DOR_DOF_aP

OOFR_HAY_OF

MWR_HL__OF

HAE_ME__QPI

RAZ_kW__1F

RA2_Fily 2P
RAZ_ 2P
Q000 :
| |
16/0B/ 2005 18/08 /2005

N FAs Wy 2P I RAZ FGL 2P D EAE MW__ 1P D FAs JME 0P D hOYE_WNL P D DOR_Mav_OP B DOoR_LGP_0OP
CCORAz Cal 0P






Mizzizn Plon ve. Preduction

Orhits
IA1E2=:104  33154=10* IB18Ex10* 3 8168=10% IB170=104 33817210 I.B174xi04
IS L Y N L Y NN N L Y [ L N N L B L Y B B

Unawailable

DORIS Mis=sion Plan

OORIS laval O Inventaried Praduction

F&4? hission Flan
RAZ level O Inventoried Production
MWE Miazion Plan

MWE leveal O Inventaried Production

DORIS lewvel & Unexpected Gaps
RAZ level & Unexpected Gaps
MWE level U Unexpected Gaps

Q00 (B0 1600 Q0
| ]
139,/06,/ 2009 19/06,/ 2005
C—I MWE lewvel D Unexpected Gopa N FAS |=wvel O Unexpected Gops B CORIS level O Unexpected Gaps
= nWR lewel O Inventorded Production I 1R Mis=iaon Plan N RaZ lavel O Inventored Production
N FA% Mim=ion Plan I DCRIS level O Invantoried Production I CORIS Migsien Plan

N Lnaovailahbl e



Mi=alon Plan ws, Production

Orbita
JA162x103 8164 X 10X, 2186 103,231 63108, 70X 103 4172108 81742 104

EAZ Wissicn Flan :
|

Lnayailable |

|

F&Z lavel 1 Inventaoded Fraducticn

Ao | | | | . l...
| | | | | | |
FAZ level 1 Unexpected Gapsz | | | | | | |
1 ! 1 | 1 1 I |I 1 1 ! 1 1 I| I 1 1 |I II 1
0o:0d N 1608 Q0G0
| |
18,/05 /20049 19,06,/ 2000

B FAS |=vel 1 Unexpected Gops
N novailabla

N FAZ |e=vel 1 Inventor=sd Production
N Fa2Z Mizsian Plan



Mi=alon Plan ws, Production

Orbita
JA162x103 8164 X 10X, 2186 103,231 63108, 70X 103 4172108 81742 104

II|III|III|III|III|III|III|II
RAZ Mission Flan | | | | | | |
N . o . o Lo ...
LInawailable | | | | | | |
L T o T o N |
| | | | | | -
N NN EE
| | | | | | I
EE I EEEENE
RA2 leval 2 Inventored Praduction | | | | | | |
E NN EENERI
| | | | | | I
AEE EENEE]
N T PR e N ]
RAZ leval 2 Unaxpactad Gaps | | | | | | |
N T
WL 0800 1808 QG0
| |
18,/05 /20049 19,06,/ 2000
B FAS |=vel 2 Unexpected Gops N BAS |=wve=l 2 Inventon=ad Production

N novailabla N Fa2Z Mizsian Plan



35162104 35164104

3166104

drbits
3.E165=10%

35170104

3.

B172=104 35174104

inventoried production

filename
proc_stage
aequisition_station
ferog_fantar
proc_tirme

software_ver

sensing—start

sen3ing_stop

phase

state_vector_time|
x_position
S preeition
z_position

p_velacity

y_velacity

z_velocity

vector_source

utc_sbt time|
sat_binary_time
Gleak_atop
leap_uts
leap_err

preduct_arr

OO0
I

18708 /2009

B product arr

I =ot hinory_time
C——1 y_velocity

@ :_pnosition

B =rn=zing start
B ocquisiticn_stotion

N |zop_=mm

T ute_sbt_time
1 s weloaity

N ctnte wertor_tirne
N =cftwore_ver
1 prac_stoge

B |zop_utc
T vectar_spource
1 =_position
B hose

B proc_tirne
T filename

19/06 /2008

B clachk step

@ = _welonity

1 v_poaition

B =rnsing ctop

B proc_oenter

™ inventaried production



imventaried production

filename
proc_atage
acquisition_station
proc_cantar
praz_time
software_ver
sensing—start
senzing_stop
phoge
state_vector_time
x_position
y_pogition
z_position
r_velazity
y_velacity
T_valpoity
vector_source

utc_sbt time

sat_binary_tims
clock_step
leap_utc
lmap_arr
preduct err

OO0

18708 /2009

B product arr

I =ot hinory_time
C——1 y_velocity

@ :_pnosition

B =rn=zing start
B ocquisiticn_stotion

drbits
35162104 35164104 3166104 3.E165=10% 35170104 3172104 35174104

N |zop_=mm

T ute_sbt_time
1 s weloaity

N ctnte wertor_tirne
N =cftwore_ver
1 prac_stoge

B |zop_utc
T vectar_spource
1 =_position
B hose

B proc_tirne
T filename

B clachk step

@ = _welonity

1 v_poaition

B =rnsing ctop

B proc_oenter

™ inventaried production

19/06 /2008



35162104 35164104

drbits
3166104 3.E165=10% 35170104

3172104 35174104

inventoried production |
filename
proc_stage
aequisition_station
ferog_fantar
proc_tirme
software_ver
sensing—start
sen3ing_stop
phase
state_vector_time
x_position

w_ e Ton
z_position
p_velacity
y_velacity
z_velocity
wvector_source
utz_sbt fime
sat_binary_time
Gleak_atop
leap_uts

leap_err

preduct_arr

OO0
I

18708 /2009

B product arr

I =ot hinory_time
C——1 y_velocity

@ :_pnosition

B =rn=zing start
B ocquisiticn_stotion

N |zop_=mm

T ute_sbt_time
1 s weloaity

N ctnte wertor_tirne
N =cftwore_ver
1 prac_stoge

B |zop_utc
T vectar_spource
1 =_position
B hose

B proc_tirne
T filename

19/06 /2008

B clachk step

@ = _welonity

1 v_poaition

B =rnsing ctop

B proc_oenter

™ inventaried production



imventaried production

filename
proc_atage
acquisition_station
proc_cantar
praz_time
software_ver
sensing—start
senzing_stop
phoge
state_vector_time
x_position
y_pogition
z_position
r_velazity
y_velacity
T_valpoity
vector_source

utc_sbt time

sat_binary_tims
clock_step
leap_utc
lmap_arr
preduct err

drbits
35162104 35164104 3166104 3.E165=10% 35170104 3172104 35174104

OO0
I

18708 /2009

B product arr

I =ot hinory_time
C——1 y_velocity

@ :_pnosition

B =rn=zing start
B ocquisiticn_stotion

N |zop_=mm

T ute_sbt_time
1 s weloaity

N ctnte wertor_tirne
N =cftwore_ver
1 prac_stoge

B |zop_utc
T vectar_spource
1 =_position
B hose

B proc_tirne
T filename

19/06 /2008

B clachk step

@ = _welonity

1 v_poaition

B =rnsing ctop

B proc_oenter

™ inventaried production



35162104

35164104

drbits
3.E165=10% 35170104

imventaried production

filename
proc_atage
acquisition_station
proc_cantar
praz_time
software_ver
sensing—start
senzing_stop
phoge
state_vector_time
x_position
y_pogition
z_position
r_velazity
y_velacity
T_valpoity
vector_source

utc_sbt time

sat_binary_tims
clock_step
leap_utc
lmap_arr

preduct err |

3I.EI EFH‘ICI"'
_____ I
..... J
----- |
----- |
""" |
""" I
|
_____ I
----- !
----- |
""" I
""" I
""" I
|
..... |
I
----- 1
""" |
""" I
I
| |

OO0
I

18708 /2009

B product arr

I =ot hinory_time
C——1 y_velocity

@ :_pnosition

B =rn=zing start
B ocquisiticn_stotion

N |zop_=mm

T ute_sbt_time
1 s weloaity

N ctnte wertor_tirne
N =cftwore_ver
1 prac_stoge

B |zop_utc
T vectar_spource
1 =_position
B hose

B proc_tirne
T filename

3|.E1?i.?3={1':|" . 3|.E1?I4H'I':I" |
|
______ SRR FRP
...... | P
...... I
...... .I.........----.I-......
...... ERRREEEEE R EECERE
...... ]]
| |
______ SRR FRP
______ U R
...... I
...... EEEEEEPPPPPPY PEPPPPP
...... RRRERRRREEERRE RERREEE
...... ]]
| |
...... IO PP
| |
...... 1{
...... ERRREEEEEEEEEE EEEEEEE
...... [frr
| |
r ! ! | !
'Ellflzl'l}D
1806 /2005
B clachk step
I:ILvelqcliirj.f
Egﬁgmﬂtnp
B proc_oenter

™ inventaried production



drbits
3.E165=10%

FE1G2=0 F.E1Gd] ot FE1GG=1O F.E1TO=A0 FE1T2A0 FE1 T4
1 1 | I 1 1 | I 1 I | 1 1 I | 1 1 I | 1 1 I | 1 1 I 1 1 I
inventoried production |
filename| . . . . . . T
precstage | 1 _____________ 1 _____________ 1 _____________ 1 _____________ 1 _____________ 1 _____________ 1 _______
aequisition_station [~ LT
proc_ganter| ] _____________ ] _____________ ] _____________ ] _____________ ] _____________ ] _____________ ] _______
prac_time| b b b b b b |
[ ] [ ] I [ ] [ ] [ ] [ ] _
software_ver
B O O T - o
sensingstart|
sensing stop | 1| _____________ 1| _____________ 1| _____________ 1| _____________ 1| _____________ 1| _____________ 1| _______
28| [ 1 0 | ] ]
state_vectordime | — —— m— — — e — N
position | 1 T
y_position | |7 |7 |7 |7 |7 |7 I
z_position | . | | | | | | L
wvelocity | I I I I I I o
ywelocity | Jeeeeeeiaee Jeeeeeeiaee Jeeeeeeiaee Jeeeeeeiaee Jeeeeeeiaee Jeeeeeeiaee [oeenenn
I_vE|'::|I:|r-I:}II _______ 1 _____________ 1 _____________ 1 _____________ 1 _____________ 1 _____________ 1 _____________ 1 _______
wvestor_Sourcs
o abt_tirme [T [ s ] | s | s | s | s e
VPPHITR) . mm oo EEam O EEam Sy Eam . .
sat_binary_time| oo oo oo oo oo oo oo
ClDEk_EtEF' ....... .I ............. .I ............. .I ............. .I ............. .I ............. .I ............. .I .......
leap_uts |
leap_srr| o o o o o o o
predugt arr| Vo o ooy by b
GO0 WE RN 1600 I
I I
18/06 /2009 19,006/ 2000
B product arr N |zop_=mm B |zop_utc B clachk step
I =ot hinory_time T ute_sbt_time T vectar_spource @ = _welonity
C——1 y_velocity 1 s weloaity 1 =_position 1 v_poaition
@ :_pnosition N ctnte wertor_tirne B hose B =rnsing ctop
B =rn=zing start N =cftwore_ver B proc_tirne B proc_oenter

B ocquisiticn_stotion

1 prac_stoge

T filename

™ inventaried production



inventoried production

....... 444444]
filtename | [ [ [ [ [ [ Joeeenn
pmcjtng& ....... .I ............. .I ............. .I ............. .I ............. .I ............. .I ............. .I .......
acquisitionstation| L A1 4 A
procganter| | | | |
proc_time | [ [ [ [ [ [ R
aoftwara_var I h h ﬁ i i. i f— ml
sensingstart | 1T
sensingstop | oo, oo, oo, oo, oo, oo, |
. Ct'jé“_ ------- S H PPN (FUUSUR RS [OPUUUUSIR OIS
Slateysclortime)  mmm  omam e e o s mm| w
x_pesition | . | | | | | | ...
soposition| . | | | | | | |
I_F:'E'SI S [ [ O (O (O (O S
ivelocity | b b b b b b b
yvalosity | o o o o o o [
zwvelacity | oo, oo, oo, oo, oo, oo, |
"-."EC'I-'.C'F_ECIL-IFC'E _______ l _____________ l _____________ l _____________ l _____________ l _____________ l ____________________
VesbEAme) mm  omam mass s s ssmk mm! w
sat_binary_tims| ] _____________ ] _____________ ] _____________ ] _____________ ] _____________ ] _____________ ] _______
CﬂTck—EtiP ....... | | | | | | |
il ST R IR IR IR IR IR .
adp_arr|{
et s g = R e e e N
predus rrl I _| I _ I “ I _ I |—.| |“ I _Il ,
IR ] it BN 1600 Q0G0
|
1806 /2003

B product arr N |zop_=mm B |zop_utc B clachk step

I =ot hinory_time [ ute skt fime 1 vectar_source @ = _welonity

C——1 y_velocity 1 s weloaity 1 =_position 1 v_poaition

@ :_pnosition BN ctate wector time B hose B =rnsing ctop

B =rn=zing start N =cftwar=_ver B proc_tirne B proc_oenter

B ocquisiticn_stotion 1 prac_stoge ™ filenome ™ inventaried production

drbits
35162104 35164104 3166104 3.E165=10% 35170104 3172104 35174104

19/06 /2008



inventoried production

....... 444444]
filtename | [ [ [ [ [ [ Joeeenn
pmcjtng& ....... .I ............. .I ............. .I ............. .I ............. .I ............. .I ............. .I .......
acquisitionstation| L A1 4 A
procganter| | | | |
proc_time | [ [ [ [ [ [ R
aoftwara_var I h h ﬁ i i. i f— ml
sensingstart | 1T
sensingstop | oo, oo, oo, oo, oo, oo, |
. Ct'jé“_ ------- S H PPN (FUUSUR RS [OPUUUUSIR OIS
Slateysclortime)  mmm  omam e e o s mm| w
x_pesition | . | | | | | | ...
soposition| . | | | | | | |
I_F:'E'SI S [ [ O (O (O (O S
ivelocity | b b b b b b b
yvalosity | o o o o o o [
zwvelacity | oo, oo, oo, oo, oo, oo, |
"-."EC'I-'.C'F_ECIL-IFC'E _______ l _____________ l _____________ l _____________ l _____________ l _____________ l ____________________
VesbEAme) mm  omam mass s s ssmk mm! w
sat_binary_tims| ] _____________ ] _____________ ] _____________ ] _____________ ] _____________ ] _____________ ] _______
CﬂTck—EtiP ....... | | | | | | |
il ST R IR IR IR IR IR .
adp_arr|{
et s g = R e e e N
predus rrl I _| I _ I “ I _ I |—.| |“ I _Il ,
IR ] it BN 1600 Q0G0
|
1806 /2003

B product arr N |zop_=mm B |zop_utc B clachk step

I =ot hinory_time [ ute skt fime 1 vectar_source @ = _welonity

C——1 y_velocity 1 s weloaity 1 =_position 1 v_poaition

@ :_pnosition BN ctate wector time B hose B =rnsing ctop

B =rn=zing start N =cftwar=_ver B proc_tirne B proc_oenter

B ocquisiticn_stotion 1 prac_stoge ™ filenome ™ inventaried production

drbits
35162104 35164104 3166104 3.E165=10% 35170104 3172104 35174104

19/06 /2008



Orbite

3162104 38164104 3,81 66104 38168104 3.a170=104 38175104 JA17 410t
T 1 | 1 1 1 1 1 1 1. 1 1 1 1 1
irvanteried production | | | | |I | |
A0Fs walidity check | | | | | | |
.................... Jovevviiiimnmns i e e
start_lat I | | | | | |
.................... O PSSR TUITIISIITY PR TPEPSIOIUITOIITY MRS
startleng | | | | | | |
T [ s s s [ [ e
ap_la
il — — I I I — — —
top_tong | | | | | | |
.................... P e
sat_track | | | | | | |
.................... .I||||.|.|.
ISP_errors_significant | | | | | | |
o I r— [ [ [ [ [ i
missing_5Ps_significant | | | | | | |
I=F _dizcarded_=zignificant | | | | | | |
.................... Joe e [ e e e e
RS _aigqnificant | | | | | | |
.................... .I||||.|.|.
rum—errar_1=Ps | | | | | | |
I I I — I — I — R R [
num_rnissingl=Fs
.................... o L L
nurn—discarded 15Ps | | | | | | |
.................... Joe e [ e e e e
num_RS_15P3 | | | | | | |
1 i 1 1 L . 1 1 | 1 1 1 b 1 1 1 I 1 1 | 1 1 L 1
QCe 00 o0g:a0 1G:00 Q020
I |
18,06/ 2409 19/06/ 2045
B num_R5_15Fs N num_discarded_|5Fs B num_mizaing_15Fs B num_error_5Pa B E5 significant
I |5F_di=corded_significant T miseingI5F=_eignificont ™ I5FP_errars_=ignificant ™ gat_trock [ stap_long
C =top_lot [ =tart_long ™ =tart_lat 1 £LF= validity chech B inventoried preduction



Orbite
38162104 38164104 3,81 66104 38168104 3.a170=104 38175104 JA17 410t

T 1 | 1 T | ‘ | 1 1 1 1 1 1 1 1
inventeried production | | | | | | |
.................... {lll}}}
ADFs walidity check | | | | | | |
start_lat | l l l l l l
.................... Ve e e e
start_leng | | | | | | |
.................... .I||||.|.|.
stopJat | I I I | | |
<top_ions | | | | | | |
.................... | Lo e L e
sat_track | | | | | | |
T [ [ [ [ o o o
I5F_arrors_sighificant | | | | | | |
missing—SPs_significant | | | | | | |
.................... 0000 OO0 000000 0000000 OOV OO0 o s OO ST O PO UOTOTH TOOOTTPPOOOTTTRPROY ISR
I=F _dizcarded_=significant | | | | | | |
RS _significant | | | | | | |
.................... D e L
num_error—SPs | | | | | | |
.................... [ T M
RUm_rnieaing 1sPa | | | | | | |
nurndiscarded 15Ps | | | | | | |
.................... L e e
num_RS_1SPs I I I I | | |
1 i 1 1 1 1 1 | 1 1 1 L 1 1 | I 1 1 1 1 1 1 1
Q00 0&:0a0 1G:00 Q0G0
I I
18,06,/ 2609 1970685005
N num_K5_15Pa N num_discarded_15FPs B num_mizaing_15Fs B num_=rror_15Pa B E5 significant
I |5F_di=corded_significant T miseingI5F=_eignificont ™ I5FP_errars_=ignificant ™ gat_trock [ stap_long

C =top_lot [ =tart_long ™ =tart_lat 1 £LF= validity chech B inventoried preduction



Orbite
38162104 38164104 3,81 66104 38168104 3.a170=104 38175104 JA17 410t

e o R g e o

A0Fs walidity check | | | |
.................... Illllll
start_lat | | | | | | |
.................... O PSSR TUITIISIITY PR TPEPSIOIUITOIITY MRS
startleng | | | | | | |
T [ s s s [ [ e
ap_la
il — — I I— I — — —
top_tong | | | | | | |
.................... P e
sat_track | | | | | | |
.................... .I||||.|.|.
ISP_errors_significant | | | | | | |
o I r— [ [ [ [ [ i
missing_5Ps_significant | | | | | | |
I=F _dizcarded_=zignificant | | | | | | |
.................... Joe e [ e e e e
RS _aigqnificant | | | | | | |
.................... .I||||.|.|.
rum—errar_1=Ps | | | | | | |
I I I — I — I — R R [
num_rnissingl=Fs
.................... o L L
nurn—discarded 15Ps | | | | | | |
.................... Joe e [ e e e e
num_R5_15Ps | | | | | | |
1 i 1 1 L . 1 1 | 1 1 1 b 1 1 1 I 1 1 1 1 1 1 1
QCe 00 o0g:a0 1G:00 Q020
I |
18,06/ 2409 19/06/ 2045
B num_R5_15Fs N num_discarded_|5Fs B num_mizaing_15Fs B num_error_5Pa B E5 significant
I |5F_di=corded_significant T miseingI5F=_eignificont ™ I5FP_errars_=ignificant ™ gat_trock [ stap_long

C =top_lot [ =tart_long ™ =tart_lat 1 £LF= validity chech B inventoried preduction



Orhits
3.8162=104 3.2164x10% I.E166x 104 38168104 3. B170x10* 3B 72104 Ameaaus

| | 1 I — | 1 T 1 1 1 1 | [ 1 i
. . : | | | ﬁ ﬁ ﬁ |
inventeried production | | |
| | |
ADFs alidity check | | | | | | |
.................... [ [HEEEENENSNSNNNNNNNNSNSN FHFNNNNNOSS SRS EE
gtar_lat | | | | | | |
.................... e B B e SRy
Ptartens | | | | | | |
oot | | | | | | |
.................... Jol
stoplong | | | | | | |
.................... {lll}'.}
sat_trock | | | | | | |
.................... I B N E
ISP_arrors_significant | | | | | | |
o - | | | | | | I
mizaing_laPa_significant
.................... Lo L
ISP _discarded_significant | | | | | | I
.................... Joe [ f
RS _significant | | | | | | |
.................... 1...................................l...................................|...................................l...................................l....................................l....................................I...................
num—error—5Ps | | | | | | |
o | | | | | | |
num—_mnissingl=Fs
.................... Lo L
rurrdiscarded [SPs | | | | | | |
.................... Joe [ f
num_R5_15Pa | | | | | | |
1 i 1 1 1, 1 1 | —1 1 1 k 1 1 1 | 1 1 | 1 1 1y 1
Q00 O30 16100 Q000
I |
18,/08,/2009 19,/08,/ 2005
B nom_FR5_15Ps B num_dizcarded_15Pa B num_mizaing_J5Fa B num_srror_|5Pa B RS significant
I |5F_dizcorded —=ignificant ™ missingJ5Fe_significant T 15P_errars_significant ™ sat_trock [ staplong

C— stopdot O =tart long O =tart lat 1 alF= validity chech B inventoried production



Orbite

3162104 38164104 3,81 66104 38168104 3.a170=104 38175104 351?4}:1(3*
CHEE BN B B . ﬁ
inventeried production | | | | | I |
.................... {lll}}}
ADFs walidity check | | | | | | |
start_lat | | | | | | |
.................... Ll L L L
start_leng | | | | | | |
.................... .I||||.|.|.
stopJat | | | | | | |
<top_ions | | | | | | |
.................... | Lo e L e
gat_track | | | | | | |
T [ e e e o o o
I5F_arrors_sighificant | | | | | | |
missing—SPs_significant | | | | | | |
.................... 0000 OO0 000000 0000000 OOV OO0 o s OO ST O PO UOTOTH TOOOTTPPOOOTTTRPROY ISR
I=F _dizcarded_=significant | | | | | | |
RS _significant | | | | | | |
.................... Lo e e L L
num—errar—_5Ps | | | | | | |
.................... T T Y S
RUm_rnieaing 1sPa | | | | | | |
nurr—discarded I5Ps | | | | | | |
.................... Jovevviiiimnmns i e e
num_RS_15Ps | | | | | | |
1 i 1 1 L . 1 1 | 1 1 1 b 1 1 1 I 1 1 | 1 1 L 1
QCe 00 o0g:a0 1G:00 Q020
I |
18,06,/ 2809 18/06,/ 2085
B num_R5_15Fs N num_discarded_|5Fs B num_mizaing_15Fs B num_error_5Pa B E5 significant

I |5F_di=corded_significant

C =top_lot

[ =tart_long

T miseingI5F=_eignificont

™ I5FP_errars_=ignificant

™ =tart_lat

™ gat_trock
1 £LF= validity chech

[ stap_long

B inventoried preduction



Orkts

3818510t 38164104 38166104 IB1EE10t 3,81 710t 3,81 7104 3B 74104
1 [ T T T [ T T T [ T T T ] T T T [ T T T [ T T T [ T 1
| | | | | |
inventoried production | | | | | | |
|
......... oo
| | | | | |
ADFs walidity check ! ! ! ! ! ! :
! ! ! ! ! ! |
| | | | | | |
procassing arrors significance flag | | | | | | |
......... |................|................|................|................|................|................|.........
processing quality flag | | | | | | |
......... |||||||
measurement percent | | | | | | |
......... T P R S P R SN
| | | | | | |
| | | | | | |
320 band parcant |
| | | | | |
. | | | | | |
| | | | | | |
| | | | | | |
8C band percent | | | | | | |
| | | | | |
......... Lt Y Y AP
20 band parcant | — | | |I | |
| l | | | | 1 | |I | | ‘ | | I| | | | |I | | I| 1
OCs ao 0d:0o 16:00 Q000
I |
18,/06,/ 2009 19,06,/ 2005

B *0 bond percent
1 measurement parcent
C &LFE validity chech

B 20 bond percent
1 pracessing quality flag
1 inventoried preduction

1 320 band percent

1 pracessing errore Significonce flog



38162104

3816410 IA1EGx1 04

Crbita

ZAT68: 04 381 Tl 104 381 TE104

=

;////?2.

7

//
/ f';’
[

f

{__.

//’_"/'{;:_ '____' =

7

{r{

'-'I -r‘l

—

——

l.lff:l:_

i

o [
-..

g |
_—

38174104

inventariad preduction

ADFs wvalidity check

|2 processing srrars =ignificance flag

0 I—

b processing errors significance flag) | L L b L

|2 processing quality flag

b processing quolity flog) |l b

measuramsnt percent

220 band percent

&0 band percent

20 band percent

ooedn kU retrock percent

icel ku retrock

icel 5 retrack

peroent L

ice2 ko retrack percent

ica? 5 retrack percant

ratrack

sad fice ku parcant

L I O DR R

Q020

Q000

1808, 2005

I Snﬂﬁc: b retrock percent

BN ir=1 = retrock percent

T 20 band peroant

1 measurament parcent

1Mk processing srrora zignificance flog
I inventoried production

B i:=2 3 retrock peroent

B ire1 ku retrock percert

/180 band peroant

C—11b proceseing quality flog

@ |7 processing errora significance flag

B ic=2 hu retrock percent
B cceon ko retrock percent
@ 330 band peroent
12 processing quality flog
N AOFE validity chech

1908,/ 2005




Crbita

I e 0t I8 0% I AEEx] 04 A ERx 0% 381 0t B Tae 0 3 a1 74 =104
H' 'ﬂ"ﬁ"ﬂ"ﬁ"ﬁ"ﬁ #
| | |

inventoried production

ADFa validity check

|2 processing errors significance flag

ITb precessing errors =ignificance flag

|2 processing quality flag

b preceszsing quality flag

meazaurement percent

220 band percent

&0 band percent

20 band percent

ocean ku retraock percent

- —_—— —— —

Q=00

Q000

18/06,/ 2045

B oceon ko retrock peroent
™ 20 bond percent
112 proceasing quality flag
0 £DFs validity check

N 0 bond peroant

™ measurement parcent

b processing errora =ignificance flag
B inventoried production

T 20 bond peroant
C— 11k processing quality flog
1% proceasing errora zignificance flog

18/06,/ 2085



Ortits
JATE2x10Y EIB1E410t 351660 SATBRIDY  ISiToot ZA17ExIn 38174x10t
T 11 rr | rr [ r 1| 1t T ] 1

filenam=

proc_atoge

prac_tirme

aoftware_ver

sensing_start

ganaing_stop

produst_err

Q00 CI500 1600 Q00
[ |

18,08 /2003 19/08,/ 2005

B product err B =cnzing atop B =cnzing atart BN =oftware_wver
B prac_timse B proc_stoge = filenome



Ortits
JATE2x10Y EIB1E410t 351660 SATBRIDY  ISiToot ZA17ExIn 38174x10t
T 11 rr | rr [ r 1| 1t T ] 1

filenam=

proc_atoge

prac_tirme

aoftware_ver

sensing_start

ganaing_stop

produst_err

Q00 CI500 1600 Q00
[ |

18,08 /2003 19/08,/ 2005

B product err B =cnzing atop B =cnzing atart BN =oftware_wver
B prac_timse B proc_stoge = filenome



Ortits
JATE2x10Y EIB1E410t 351660 SATBRIDY  ISiToot ZA17ExIn 38174x10t
T 11 rr | rr [ r 1| 1t T ] 1

filenam=

proc_atoge

prac_tirme

aoftware_ver

sensing_start

ganaing_stop

produst_err

Q00 CI500 1600 Q00
[ |

18,08 /2003 19/08,/ 2005

B product err B =cnzing atop B =cnzing atart BN =oftware_wver
B prac_timse B proc_stoge = filenome



Ortits
JATE2x10Y EIB1E410t 351660 SATBRIDY  ISiToot ZA17ExIn 38174x10t
T 11 rr | rr [ r 1| 1t T ] 1

filenam=

proc_atoge

prac_tirme

aoftware_ver

sensing_start

ganaing_stop

produst_err

Q00 CI500 1600 Q00
[ |

18,08 /2003 19/08,/ 2005

B product err B =cnzing atop B =cnzing atart BN =oftware_wver
B prac_timse B proc_stoge = filenome



Ortits
JATE2x10Y EIB1E410t 351660 SATBRIDY  ISiToot ZA17ExIn 38174x10t
T 11 rr | rr [ r 1| 1t T ] 1

filenam=

proc_atoge

prac_tirme

aoftware_ver

sensing_start

ganaing_stop

produst_err

Q00 CI500 1600 Q00
[ |

18,08 /2003 19/08,/ 2005

B product err B =cnzing atop B =cnzing atart BN =oftware_wver
B prac_timse B proc_stoge = filenome



Ortits
JATE2x10Y EIB1E410t 351660 SATBRIDY  ISiToot ZA17ExIn 38174x10t
T 11 rr | rr [ r 1| 1t T ] 1

filenam=

proc_atoge

prac_tirme

aoftware_ver

sensing_start

ganaing_stop

produst_err

Q00 CI500 1600 Q00
[ |

18,08 /2003 19/08,/ 2005

B product err B =cnzing atop B =cnzing atart BN =oftware_wver
B prac_timse B proc_stoge = filenome



Ortits
JATE2x10Y EIB1E410t 351660 SATBRIDY  ISiToot ZA17ExIn 38174x10t
T 11 rr | rr [ r 1| 1t T ] 1

filenam=

proc_atoge

prac_tirme

aoftware_ver

sensing_start

ganaing_stop

produst_err

Q00 CI500 1600 Q00
[ |

18,08 /2003 19/08,/ 2005

B product err B =cnzing atop B =cnzing atart BN =oftware_wver
B prac_timse B proc_stoge = filenome



Ortits
JATE2x10Y EIB1E410t 351660 SATBRIDY  ISiToot ZA17ExIn 38174x10t
T 11 rr | rr [ r 1| 1t T ] 1

filenam=

proc_atoge

prac_tirme

aoftware_ver

sensing_start

ganaing_stop

produst_err

Q00 CI500 1600 Q00
[ |

18,08 /2003 19/08,/ 2005

B product err B =cnzing atop B =cnzing atart BN =oftware_wver
B prac_timse B proc_stoge = filenome



Ortits
JATE2x10Y EIB1E410t 351660 SATBRIDY  ISiToot ZA17ExIn 38174x10t
T 11 rr | rr [ r 1| 1t T ] 1

filenam=

proc_atoge

prac_tirme

aoftware_ver

sensing_start

ganaing_stop

produst_err

Q00 CI500 1600 Q00
[ |

18,08 /2003 19/08,/ 2005

B product err B =cnzing atop B =cnzing atart BN =oftware_wver
B prac_timse B proc_stoge = filenome



Ortits
JATE2x10Y EIB1E410t 351660 SATBRIDY  ISiToot ZA17ExIn 38174x10t
T 11 rr | rr [ r 1| 1t T ] 1

filenam=

proc_atoge

prac_tirme

aoftware_ver

sensing_start

ganaing_stop

produst_err

Q00 CI500 1600 Q00
[ |

18,08 /2003 19/08,/ 2005

B product err B =cnzing atop B =cnzing atart BN =oftware_wver
B prac_timse B proc_stoge = filenome



Ortits
JATE2x10Y EIB1E410t 351660 SATBRIDY  ISiToot ZA17ExIn 38174x10t
T 11 rr | rr [ r 1| 1t T ] 1

filenam=

proc_atoge

prac_tirme

aoftware_ver

sensing_start

ganaing_stop

produst_err

Q00 CI500 1600 Q00
[ |

18,08 /2003 19/08,/ 2005

B product err B =cnzing atop B =cnzing atart BN =oftware_wver
B prac_timse B proc_stoge = filenome



Ortits
JATE2x10Y EIB1E410t 351660 SATBRIDY  ISiToot ZA17ExIn 38174x10t
T 11 rr | rr [ r 1| 1t T ] 1

filenam=

proc_atoge

prac_tirme

aoftware_ver

sensing_start

ganaing_stop

produst_err

Q00 CI500 1600 Q00
[ |

18,08 /2003 19/08,/ 2005

B product err B =cnzing atop B =cnzing atart BN =oftware_wver
B prac_timse B proc_stoge = filenome



Ortits
JATE2x10Y EIB1E410t 351660 SATBRIDY  ISiToot ZA17ExIn 38174x10t
T 11 rr | rr [ r 1| 1t T ] 1

filenam=

proc_atoge

prac_tirme

aoftware_ver

sensing_start

ganaing_stop

produst_err

Q00 CI500 1600 Q00
[ |

18,08 /2003 19/08,/ 2005

B product err B =cnzing atop B =cnzing atart BN =oftware_wver
B prac_timse B proc_stoge = filenome



Ortits
JATE2x10Y EIB1E410t 351660 SATBRIDY  ISiToot ZA17ExIn 38174x10t
T 11 rr | rr [ r 1| 1t T ] 1

filenam=

proc_atoge

prac_tirme

aoftware_ver

sensing_start

ganaing_stop

produst_err

Q00 CI500 1600 Q00
[ |

18,08 /2003 19/08,/ 2005

B product err B =cnzing atop B =cnzing atart BN =oftware_wver
B prac_timse B proc_stoge = filenome



Ortits
JATE2x10Y EIB1E410t 351660 SATBRIDY  ISiToot ZA17ExIn 38174x10t
T 11 rr | rr [ r 1| 1t T ] 1

filenam=

proc_atoge

prac_tirme

aoftware_ver

sensing_start

ganaing_stop

produst_err

Q00 CI500 1600 Q00
[ |

18,08 /2003 19/08,/ 2005

B product err B =cnzing atop B =cnzing atart BN =oftware_wver
B prac_timse B proc_stoge = filenome



Ortits
JATE2x10Y EIB1E410t 351660 SATBRIDY  ISiToot ZA17ExIn 38174x10t
T 11 rr | rr [ r 1| 1t T ] 1

filenam=

proc_atoge

prac_tirme

aoftware_ver

sensing_start

ganaing_stop

produst_err

Q00 CI500 1600 Q00
[ |

18,08 /2003 19/08,/ 2005

B product err B =cnzing atop B =cnzing atart BN =oftware_wver
B prac_timse B proc_stoge = filenome



Ortits
JATE2x10Y EIB1E410t 351660 SATBRIDY  ISiToot ZA17ExIn 38174x10t
T 11 rr | rr [ r 1| 1t T ] 1

filenam=

proc_atoge

prac_tirme

aoftware_ver

sensing_start

ganaing_stop

produst_err

Q00 CI500 1600 Q00
[ |

18,08 /2003 19/08,/ 2005

B product err B =cnzing atop B =cnzing atart BN =oftware_wver
B prac_timse B proc_stoge = filenome



Ortits
JATE2x10Y EIB1E410t 351660 SATBRIDY  ISiToot ZA17ExIn 38174x10t
T 11 rr | rr [ r 1| 1t T ] 1

filenam=

proc_atoge

prac_tirme

aoftware_ver

sensing_start

ganaing_stop

produst_err

Q00 CI500 1600 Q00
[ |

18,08 /2003 19/08,/ 2005

B product err B =cnzing atop B =cnzing atart BN =oftware_wver
B prac_timse B proc_stoge = filenome



Ortits
JATE2x10Y EIB1E410t 351660 SATBRIDY  ISiToot ZA17ExIn 38174x10t
T 11 rr | rr [ r 1| 1t T ] 1

filenam=

proc_atoge

prac_tirme

aoftware_ver

sensing_start

ganaing_stop

produst_err

Q00 CI500 1600 Q00
[ |

18,08 /2003 19/08,/ 2005

B product err B =cnzing atop B =cnzing atart BN =oftware_wver
B prac_timse B proc_stoge = filenome



Ortits
JATE2x10Y EIB1E410t 351660 SATBRIDY  ISiToot ZA17ExIn 38174x10t
T 11 rr | rr [ r 1| 1t T ] 1

filenam=

proc_atoge

prac_tirme

aoftware_ver

sensing_start

ganaing_stop

produst_err

Q00 CI500 1600 Q00
[ |

18,08 /2003 19/08,/ 2005

B product err B =cnzing atop B =cnzing atart BN =oftware_wver
B prac_timse B proc_stoge = filenome



Ortits
JATE2x10Y EIB1E410t 351660 SATBRIDY  ISiToot ZA17ExIn 38174x10t
T 11 rr | rr [ r 1| 1t T ] 1

filenam=

proc_atoge

prac_tirme

aoftware_ver

sensing_start

ganaing_stop

produst_err

Q00 CI500 1600 Q00
[ |

18,08 /2003 19/08,/ 2005

B product err B =cnzing atop B =cnzing atart BN =oftware_wver
B prac_timse B proc_stoge = filenome



Ortits
JATE2x10Y EIB1E410t 351660 SATBRIDY  ISiToot ZA17ExIn 38174x10t
T 11 rr | rr [ r 1| 1t T ] 1

filenam=

proc_atoge

prac_tirme

aoftware_ver

sensing_start

ganaing_stop

produst_err

Q00 CI500 1600 Q00
[ |

18,08 /2003 19/08,/ 2005

B product err B =cnzing atop B =cnzing atart BN =oftware_wver
B prac_timse B proc_stoge = filenome



Ortits
JATE2x10Y EIB1E410t 351660 SATBRIDY  ISiToot ZA17ExIn 38174x10t
T 11 rr | rr [ r 1| 1t T ] 1

filenam=

proc_atoge

prac_tirme

aoftware_ver

sensing_start

ganaing_stop

produst_err

Q00 CI500 1600 Q00
[ |

18,08 /2003 19/08,/ 2005

B product err B =cnzing atop B =cnzing atart BN =oftware_wver
B prac_timse B proc_stoge = filenome



Ortits
JATE2x10Y EIB1E410t 351660 SATBRIDY  ISiToot ZA17ExIn 38174x10t
T 11 rr | rr [ r 1| 1t T ] 1

filenam=

proc_atoge

prac_tirme

aoftware_ver

sensing_start

ganaing_stop

produst_err

Q00 CI500 1600 Q00
[ |

18,08 /2003 19/08,/ 2005

B product err B =cnzing atop B =cnzing atart BN =oftware_wver
B prac_timse B proc_stoge = filenome



Ortits
JATE2x10Y EIB1E410t 351660 SATBRIDY  ISiToot ZA17ExIn 38174x10t
T 11 rr | rr [ r 1| 1t T ] 1

filenam=

proc_atoge

prac_tirme

aoftware_ver

sensing_start

ganaing_stop

produst_err

Q00 CI500 1600 Q00
[ |

18,08 /2003 19/08,/ 2005

B product err B =cnzing atop B =cnzing atart BN =oftware_wver
B prac_timse B proc_stoge = filenome



Ortits
JATE2x10Y EIB1E410t 351660 SATBRIDY  ISiToot ZA17ExIn 38174x10t
T 11 rr | rr [ r 1| 1t T ] 1

filenam=

proc_atoge

prac_tirme

aoftware_ver

sensing_start

ganaing_stop

produst_err

Q00 CI500 1600 Q00
[ |

18,08 /2003 19/08,/ 2005

B product err B =cnzing atop B =cnzing atart BN =oftware_wver
B prac_timse B proc_stoge = filenome



Ortits
JATE2x10Y EIB1E410t 351660 SATBRIDY  ISiToot ZA17ExIn 38174x10t
T 11 rr | rr [ r 1| 1t T ] 1

filenam=

proc_atoge

prac_tirme

aoftware_ver

sensing_start

ganaing_stop

produst_err

Q00 CI500 1600 Q00
[ |

18,08 /2003 19/08,/ 2005

B product err B =cnzing atop B =cnzing atart BN =oftware_wver
B prac_timse B proc_stoge = filenome



Ortits
JATE2x10Y EIB1E410t 351660 SATBRIDY  ISiToot ZA17ExIn 38174x10t
T 11 rr | rr [ r 1| 1t T ] 1

filenam=

proc_atoge

prac_tirme

aoftware_ver

sensing_start

ganaing_stop

produst_err

Q00 CI500 1600 Q00
[ |

18,08 /2003 19/08,/ 2005

B product err B =cnzing atop B =cnzing atart BN =oftware_wver
B prac_timse B proc_stoge = filenome



Ortits
JATE2x10Y EIB1E410t 351660 SATBRIDY  ISiToot ZA17ExIn 38174x10t
T 11 rr | rr [ r 1| 1t T ] 1

filenam=

proc_atoge

prac_tirme

aoftware_ver

sensing_start

ganaing_stop

produst_err

Q00 CI500 1600 Q00
[ |

18,08 /2003 19/08,/ 2005

B product err B =cnzing atop B =cnzing atart BN =oftware_wver
B prac_timse B proc_stoge = filenome



	2009-06-18
	image
	image
	image
	image
	image
	image
	image
	image
	image
	image
	image
	image
	image
	image
	image
	image
	image
	image
	image
	image
	image
	image
	image
	image
	image
	image
	image
	image
	image
	image
	image
	image
	image
	image
	image
	image
	image
	image
	image
	image
	image
	image
	image
	image
	image
	image
	image
	image
	image
	image

